STA 6167 – Project 4 Worksheet

Conduct all tests at =0.05 Significance Level

Include all Computer Output/Calculations to back of WorkSheet
Part 1: Red Cedars Analysis

Test Whether DBH associated with probability tree has sexual activity:

H0:                      
HA:

Test Statistic:

P-Value and/or Rejection Region:

Conclusion: 

Test for SHADE effects, controlling for DBH: 

H0:                      
HA:

Test Statistic:

P-Value and/or Rejection Region:

Conclusion: 

Test for SITE Effect, Controlling for DBH and SHADE:

H0:                     
HA:

Test Statistic:

P-Value and/or Rejection Region:

Conclusion: 

Test for SITE and/or SITExDBH Interaction, Controlling for DBH and SHADE:

H0:                      HA:

Test Statistic:

P-Value and/or Rejection Region:

Conclusion: 

Predicted Value for: DBH=20, High Shade, Parkland Site:

Predicted Value for: DBH=30, Low Shade, Mountainside Site:

Part 2: Mice Radiation:

Test for Dose by Treatment Interaction:

H0:                      
HA:

Test Statistic:

P-Value and/or Rejection Region:

Conclusion: 

Test for Treatment Effects for Additive Model:

H0:                      
HA:

Test Statistic:

P-Value and/or Rejection Region:

Conclusion: 
95% Confidence Interval for Odds ratio (Strepto/Saline):

Fitted Value for 200/strepto: 

Fitted Value for 200/saline: 

Fitted Value for 260/strepto: 

Fitted Value for 260/saline: 

Part 3: British Train Fatalities
Fitted Equation:  = 
Test for Year x Privatization Interaction:

H0:                      

HA:

Wald Test Statistic:
Likelihood-Ratio Test Statistic
P-Values and/or Rejection Region:

Conclusion: 

Test for Year Effect:

H0:                      

HA:

Wald Test Statistic:
Likelihood-Ratio Test Statistic
P-Values and/or Rejection Region:

Conclusion: 

Test for Privatization Effect:

H0:                      

HA:

Wald Test Statistic:
Likelihood-Ratio Test Statistic
P-Values and/or Rejection Region:

Conclusion: 

Predicted values for 1993 and 1994 and their residuals (and Pearson Residuals): 
Part 4 – Nonlinear Regression - Performance of Naval Destroyers circa 1900

Fitted Equation: Y = 

Test H0: 2 = 3  vs   HA: 2 ≠ 3
Test Statistic:

P-Value and/or Rejection Region:

Conclusion: 

Test H0: 0 = 0  vs   HA: 0 ≠ 0
Test Statistic:

P-Value and/or Rejection Region:

Conclusion: 

Predicted values for (Foul, 1), (Foul, 3), (Not Foul, 1), (Not Foul, 3).

